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Developing activity
Lesson 4
LO: TBAT divide numbers using short division.
Success Criteria:
	1. Write out the division using the bust stop methd.

	2. Work out how many of the divisor go into each digit of the number.

	3. Remember to carry the remainder over.

	4. Check your answer.


Model
Short division
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Now you try…
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Then, create 3 of your own!	
Year 6 Maths   
Expected/ Greater depth activity

Lesson 4
LO: TBAT use division in a range of contexts.
Task:
You are going apply your knowledge of division to solve several maths problems.
Success Criteria:
	1. For written methods ensure your layout is correct.

	2. When dividing with decimals ensure your answers also have decimals.

	3. When dividing fractions, divide the numerator and keep the denominator the same.



Recap:
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Year 6 Maths
Main activity
Complete at least 2 columns, more if you can!
	Task 1
	Task 2
	Task 3
	Task 4

	Practice
Have a go at these divisions. Convert your remainders into fractions:
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	Arithmetic
Have a go at these subtractions. 
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	Reasoning
Explain your answers.
Task 1
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Task 2
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	Problem solving
Task 1
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Task 2
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3. 875+5=0
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4,459 +-9=01
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Order of Operations

Brackets 10 (4+ 2) =10 x 6 = 60
Indices 5420254429
Division 1046+2=10+3=13
Multiplication [10-4~2=10-5=2
Addition 10 x 4474004747
Subtraction [0+2-3-5-3-2
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at.
180+3=

Q2.
1210+ 11=

Q3.

50+(36+6)=
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Sb. Amelie has written the following
comparisons.

A 428 : 4 > 448 = 6
B 2718 + 9 > 2416 + 8
C 4305 + 5 < 6027 = 7

Is she correct?
Find and explain any errors.
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4b. Sanna thinks that she should calculate
450 + 6 fo solve this problem. s she
cormect? Explain your thinking and solve
the problem.

Alex cooks for 4.5 hours
and makes 6 large pies.

How long does one pie
take fo make?





image15.png
Find the missing digits.

04 13

Here are two calculations.

Find the difference between A and B.
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9b. Use the digit cards fo complete the
calculation. The divisor s greater than 6.
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1. 962 +7=0
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